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HUIT S B o 39 U0 H gfad IS 13 AT U 18 T |
Please make sure that the printed pages in this question paper are 13 in

number and it contains 18 questions.

g—ga H e BT &1 IR T R Ple TR 9T Ve B BF

SR—YRTHT & T8 W o |
The Code No. and Set on the right side of the question paper should be

written by the candidate on the front page of the answer-book.

HUIT Y BT IR oG TH B A UTl, U BT HAID a9y
fered |

Before beginning to answer a question, its Serial Number must be

written.
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o TR—YRHI & dE H Wl =1 /I~ 7 BlS |
Don’t leave blank page/pages in your answer book.
e TW-YR@d @ HfaRem @iz o=@ e T fe) e

AITIHATTAR & ford 3R foram IR 7 & |

Except answer-book, no extra sheet will be given. Write to the point

and do not strike the written answer.

o  Temeff 3UAT VT Ho UTH—UH W 3avy ford |

Candidates must write their Roll Number on the question paper.

* DU YT P SR o ¥ Qd IE YHREd PR of b g9 Ol 9
HE 2, TS © S 59 G § DIy 9 q@ET WOR T8 fHhar
SR |
Before answering the questions, ensure that you have been supplied the

correct and complete question paper, no claim in this regard, will be

entertained after examination.

=g g :
General Instructions :

1. 9 v offvard §
(All questions are compulsory)

2. U YT B 3 ISP A ST U 2 |

Marks of each question is indicated against it.
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3. 3D IR ABGMAR & =Y |

Your answer should be according to marks.

e T Fo 1 # umw (I-XV) T U9 B | UAd & for 9 fawed
g |

Question No 1 contains fifteen objective type questions. Select the

correct alternative for the answer of questions.

TS — I
Section — A

EiSIES RS

(Objective Type Question)

Ql(i) T ® AHY 9Idd Bl I AHTg fhaeT Bl 87
(@) 15-20”

(@) 17-19”
(m 10-15”
(@) 25-30”
What is average height of child at the time of birth?
(@ 15-20”
(b)y 17-19”
(c) 10-15”
(d) 25-30”
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(if)

(iii)

F.P.O &1 )T 99 &1 B—

(®) ®S URAT 3R

(@) ®S UICaRM TSR

() e UISdcT 3R

(@) SWITT H F PIs T8 |
What is the full form of F.P.O
(A) Food Prevent Order

(B) Food Protection Order
(C)  Fruit Product Order

(D) None of above

G & dell W PiF AT g o T Srar g
(®) wmES

(@) <M THo M=o

() Two Uio 3Mo

(@) a8 7

Which standard mark is applied on edible oil?
(A) Agmark

(B) ISl

(C) F.P.O

(D) Wool Mark
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(iv) Sfras 97 GIfoR dearar a—

(v)

(@) fra=

(@) =3

(M) 9=q

(@) STH A PIg T8l

Life Insurance policy is called

(A) Investment

(B) Expenditure

(C) Saving

(D) None of the above
JMATEIA &1 FHHI A BIAT o—
(®) OMRIZS Tele ol oI §
(@) =di 7 gfg S 2 B
(@M RIS & ST
(&) SWRad

Deficiency of lodine results in

(A) Swelling in thyroid gland

(B) Deprived growth in children

(C) Myxedema
(D) All the above



(vi) 71 7 9 S T8 B
(@) faer= S & $H | FUF 8IaT ? |
@) fIer= 3 9o+ fhar 7 98a 8
() IR BT Udh 3BT I Uldd o |
(@) SIS @ BA I e T 8 S §

Which of the following is incorrect

(A) Nightblindness is caused due to deficiency of Vitamin ‘D’
(B) Vitamin ‘E’ is helpful in reproduction process.
(C) Spinach is rich source of iron.

(D) Goitre is caused due to deficiency of iodine.
(vii) @R A 99 SR HT 919 81 o1 a1y |

(®) TR TAT T IAER

(@) T aAT 9N IMMER

(M) <forar qun Raa<

(&) <u

Which of the following food should not be taken during fever

(A) Liquid and semi-liquid diet

(B) Fried and Heavy diet.

(C) Dalia and Khichdi

(D) Milk
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(viii) T/ & & B9 1 SRS =i T8 ' — 1

(ix)

(@) AIfSIH qATHIS
(@) <AIfeIH dRaARe

(M) e

(&) URCRRM WRHITE

Which of the following is not an oxidising bleach-
(A) Sodium Bisulphide

(B) Sodium Perborate

(C) Sunlight

(D) Potassium Permanganate

HUSI TR N G o9l | &1 T SR el 572 1
(®) T D = DI

(@) a9 B I Dl

(M) I D HY DI

(€) SWRIad I

What information we obtain from ‘Information label’ applied on the
clothes.
(A) Type of fibre ofthe cloth

(B) Price of the cloth
(C) Measurement of the cloth
(D) All the above
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(X) =@ B ED D R GIAD B & AT 50
(@) ©: 9y
@) e 99
() @I ay
(&) SuRIad a4
At what age the booster dose of vaccine is given to the children.
(A) 6 years
(B) 1years
(C) 2years
(D) All the above
(Xi) FE o HT P 2T 27
() faord
(=
(1) ¥
(&) SWRiFd |4

Growth is a part of

:

(A) Development
(B) Personality
(C) Learning

(D) All of above
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(xii) 7 ¥ 9 fapR 9y ueref 8
(®) HEDI BT 3TT
(@)
M 999
(&) 9ToRT
Which of the following is a perishable food
(A) Corn Flour
(B) Milk
(C) Besan
(D) Bajra

(xiii) TR H P A1 fAer®= g oar 8
(@) faerfd= ' A
(@) faeifq = "B’
(@) faerfi= ' C
(&) fderd = D’
Which vitamin is found in orange
(A) Vitamin ‘A’
(B) Vitamin ‘B’
(C) Vitamin ‘C’
(D) Vitamin ‘D’
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(Xiv)IRET™ &7 I8l T fSoirsH b MR R 89T =i 1

(xv)

(®) oMy

(@) IR

(M) Jga

(&) SuRrEd a4l

The style and design of the dress should be according to
(A) Age

(B) Occasion

(C) Occupation

(D) All the above

g 9T &7 31 7

(@) AT ® AT SRT IA dTell
(@) AT & AT SR 7 G4 arefl
(M) A ST

(&) SWRIad dlg ol

Soft water means

(A) Foaming with soap
(B) Not foaming with soap
(C) Sewage water

(D) None of above

P.T.O
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G — g
Section - B
AfT g ST w4
(Very Short Answer Type Questions)

Are—f=forRad goar @ SaY 2—3 ufedar § Sifee

Answer the following questions in 2-3 lines

2. gfg 3R f[Aw™T H B T FR w3 | 2

Give any two differences between growth and development.

3. OId fhd 9oR 9 9= @ fa&rg B g9Ifdd &Rar ¢ | 2
How the music affects the development of children.

4.  dfgd WAl A AU RT FHSIT &2 59 Woll & I I8l &l | 2

What do you understand by Intellectual games ? Give two examples
of these games.

5. gHY IISAT 9919 & bl &l oI forar | 2
Write any two benefits of time planning.

6. gad W 3MY T A ©° I & DI T ARIH qdT | 2
What do you understand by saving ? Give any two methods of
Investment.

7. THamae & dgd 87 Frel e 9 9 ugred @ Memae o S
27 2
What is adulteration? Which adulterant is added in black pepper?

8. a1 H goIeiial fAei®=i & A gl | 2

Give the names of fat soluble vitamins.

P.T.O
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9. IMER RETV &I YRHNT forr | 2
Write the definition of food preservation.

10. A1 HUS U THI FIT—IT AT G- AT=0? 2
What precautions should be taken during washing of woolen
clothes.

11. ORI B YfhAT BT gaTfdd B dTel Big S BRE fold | 2

Write down any two factors affecting learning.

Ts — 9
Section- C

oY SR JEH
(Short Answer Type Questions)

Ae—=fRad get & SR 4—5 dfdaar 34 ST |

Answer the following questions in 4-5 lines.

12. 90® & BN IR U H IR WL PN | 3
Differentiate between work and Game (play) of child.

13. & RIT g | IT [ha-T UHR B Bl 57 3
What is fatigue? What are its types.

14. 3ifddr werm 3masdl & BET B S99 fov fefhs 37 99a SHd!
ATTT S I T 91 &1 a9 X&=T 130 | 3

Ankita is a student of 8" class. Mention the points her mother should
keep in mind while preparing Tiffin for her.
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15.

16.

oY @rer ggral T SSIENY ThY gdigU Bl T g9hT USRI
B BRI | 3

Give the examples of perishable foods. Explain how these are stored?

Adferd Wi fhd wed 8?2 ddferd v &l favwang forar| 3
What is balanced diet? Write the characteristics of balanced diet.

EE — §
Section - D

foega ST u=
(Long Answer Type Questions)

Ae—f=falRad get & SR 5—7 dfaaal 9 |

17.

18.

Answer the following question in 5-7 lines.

UINd d@l @ daeE o [t faar gae forar | 5

Explain the methods of nutritional enhancement.
SRAAT

OIS & &9 B R 2?7 SHD! BAT BT INR W FT YA ISl
g°

What are the main functions of Protein? How the deficiency of Proteins
affect the body?

JMUBT ATAT SN BT Al Il e bY fafy o1 faar 9 goi9 &Y | 5

Describe in detail the method of washing of woolen shawl of your
mother.

SRAAT
SN g Gl AT [ha—{db rdl BT & g1 =iy |

What precautions should be taken during removal of stains?
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